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BACHELOR'S DEGREE PROGRAMME 

(BDP) 
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June, 2019 

(ELECTIVE COURSE : ECONOMICS) 
BECE-214 : AGRICULTURAL DEVELOPMENT IN 

INDIA 

Time :  3 Hours 	 Maximum Marks : 100  

Note : Answer the questions as per the instructions 

given for each Section. 

Section—A 	2x20=40 

(Long Answer Type Questions) 

Note : Answer any two questions from this Section. 

1. State five reasons for the need of irrigation in 
India. Mention the three major modes of 
irrigation, run on project basis in India. 
Indicate the main concerns about groundwater 
usage. 

2. Do you agree with the assertion that 
`Institutional Development means dconomic 
development' ? Identify the 'Genesis of 
Panchayati Raj Institutions' in India. 
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3. State any two pro-agricultural developmental 

policies which have also contributed to 

unsustainable use of groundwater resources. 

For what reason is it claimed that the green 

revolution (GR) benefits has resulted in the 

widening of economic disparities ? 

4. What are the special characteristics of 

agricultural marketing which distinguishes 

them from other markets ? What strategies are 

suggested to cope with the marketing needs of 

small farmers ? 

Section—B 	4x12=48 

(Medium Answer Type Questions) 

Note : Answer any four questions from this Section. 

5. Mention the four major plants of land reform 

legislation in India. What factors contributed to 

a poor performance of the implementation of 

ceiling on `land holding laws' ? 

6. Do you agree that the implementation of rural 

industrialization policy in India has not been as 

muoh `inclusive' in its character as it ought to 

have been ? What in your opinion, should now 

be done to rectify this error in the coming 

years ? 

(A-42) 
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7. How would you say that in the matter of 

advancing institutional credit to small farmers 

there could be an inherent bias against them ? 

8. In which type of region is the practice of 

`Contour farming' followed ? In what way this 

method is helpful in minimising production/ 

environmental losses ? 

9. Explain the five important reasons for the 

deceleration of public investment in 

agriculture. Point out the five important factors 

which affect the private investment in 

agriculture. 

10. In which three areas WTO envisaged to 

eliminate trade distortions in agricultural 

products ? Explain in what way the WTO-AoA 

commitments implicate the agricultural sector 

of developing countries like India ? 

Section—C 	2x6=12 

(Short Answer Type Questions) 

Note : Answer any two parts from this Section. 

11. (i) How does 'information asymmetry' affect 

agriculture ? Briefly indicate with an 

example. 

(A-42) 



[4 ] 	 BECE-214 

(ii) State the three contributions of agriculture 

to the economy suggested by Kuznets. 

(iii) What are the three major factors that 

inhibit the small farmers in India from 

using the chemical fertilisers in adequate 

quantity ? 

(iv) Indicate the three areas in which concerted 

action is required to ensure food security. 

(A-42) 
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